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Instructions to the candidates:

1) Question 1iscompulsory.

2) Solve any three questions from Q.2 to Q.5.

3) Questionsfrom 2to 5 carry equal marks.

Q1) Solveany five of thefollowing. [5]
ad Explainany twofieldsof Al.
b) Define Search Strategy.
c) Statethetypesof supervised learning.
d) Isthepython strings aretimmutable?
e) State any two appreaches for knowledge representation.
f)  What isheuristic function?

Q2) Attemptthefollowing: [10]
a.. 1)  Stateany two Al techniques. [2]

i) Explain generate and test algorithm. [4]

b) = Compare propositional logic and predicate logic. [4]

@3) Attempt thefollowing: [10]
a 1) Whatisadictionary in python? [2]

i)  Explainthedifferent typesof machinelearning. [4]

b) Trandatefollowing English statement in FOPL. [4]

)  Somegirls play chess.

i)  Not al studentslike both Computer and Marathi.
i) All Parrotsfly.

Iv) Every student respects his Teacher.
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Q4) Attempt thefollowing: [10]

a 1) Writedisadvantages of Breadth First Search. [2]
i)  Give the state space representation of “water jug problem”, where
there are 2 jugs of 4L and 3L respectively. We want 2L water in
4L jug. [4]
b) Consider thefollowing 3 FOPL statements. Using resolution prove FIDO
WILL DIE. [4]
) Vx:dog(x)— animal(x)
i) dog(FIDO)
i)  Vy:animal(y)— die(y)

Q5) Attempt any 2 of thefollowing: [10]
ad Whatishill climbing?Writeagerithm for it. [5]
b)  Writeapython programio.checkithe given number ispalindromeor not.[5]
c) Givenaninitial state of.a8-puzzle problem and final stateto bereached:[5]

218 3 11 2|3
¥ 6|4 8 4
7 5 71 6|5
Initial State Final State

Find the most cost-effective path to reach thefinal statefrominitial state
using A* algorithm.

Consider,
g(n) = Depth of node

h(n) = Number of misplacestiles
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